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(a) Briefly discuss major financial decisions with which a finance manager is

confronted ? (8)
(b) The role of finance manager has evolved over time ? Discuss. {(7)

OR
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(a) What is an annuity ? Give three examples of an annuity. ®))
(b) Why time value of money is important in financial decision making ?  (5)

(c) X financed a car by taking a loan of Rs. 4,00,000 at 10% p.a. The loan is
to be repaid in four equal annual installments starting from the end of the
first year. Calculate the amount of equal annual installment. (5)
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A company is considering to purchase a machine. Two machines A and B are

available each costing Rs. 50.000. Earnings after taxation are expected to be as

follows :
Year Machine A Machine B
1 15,000 5,000
2 20,000 15,000
3 25,000 20,000
4 15,000 30,000
5 10,000 20,000

You are required to indicate which of the machines would be profitable
using :



490 3
(1) Payback Method

(i) Return on investment method (15)
OR

A choice 1s to be made between two proposals which require an equal investment

of Rs. 50,000 each and are expected to generate net cash flows as under :

Year Project A Project B
| 25,000 10,000
2 15,000 12,000
3 10,000 18,000
4 Nil 25,000
5 12,000 8,000
6 6,000 4.000

Which project should be chosen under :
(a) Payback period

(b) Average rate of return method ? (15)

TF YN U A0 @Ay 1 faar a7 & 8 1 3 /9T A 3R B 39aRI § 3 uE &
&I 50,000 T B | KU & 9N FHSHAT & I YER B @) ToAET B

a4 I A e B
l 15,000 5,000
2 20,000 15,000
3 25,000 20,000
4 15.000 30,000
5 10,000 20,000
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1 25,000 10,000
2 15,000 12,000
3 10,000 18,000
4 = 25,000
5 12,000 8,000
6 6,000 4,000
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3. (a)

(b)

(a)

Define “Leverage™. What are the different types of leverages ? Explain
them. (7)

From the following information. calculate different types of leverages :

Rs. (In Lakhs)
Sales 8000
EBIT 1950
PBT 950
Tax Rate 40%
Variable cost is 70% of sales. (8)
OR

Distinguish between Net Income Approach and Net Operating Income
Approach of Capital Structure. (7
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(b) Companies U and L are identical in every respect except that U is unlevered

and L has Rs. 20 lakhs of 8% debt. EBIT of both firms is Rs. 6 lakhs and
tax rate is 35%. Equity capitalization rate for U is 10%.

Calculate the value of each firm using M-M approach and cost of equity for
L Ltd. (8)
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(a) Write a note on Gordon's approach to relevance of dividend decision. (5)

(b) ABC Ltd. is currently having 1,00,000 equity shares of the face value of

Rs. 10 each. It is expected that company will have year end net profit of
Rs.5,00,000. Due to recessionary conditions, the company expects 10%
return on its investment in future. The equity capitalization rate is 12%. Find
out the market price per share according to Gordon Model under different
payout ratios of 40%, 60% and 80%. (10)

PTO.
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OR

(a) Explain the Modigliani-Miller hypothesis of dividend irrelevance. (%)

(b) The earnings per share of ABC Ltd. is Rs. 10. The face value of its equity
share is Rs. 100. Its rate of return on investment is 20%. Capitalization rate

for its risk class is 15%. Using Walter's dividend model, find out :
(1) The optimum payout ratio.
() The market price per share if the payout ratio is zero.

(i1) The market price at a payout of 60%. (10)
() @y folg & adear & WA -Im W ot fafiag |
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5. Compute the working capital requirements from the following details :

Budgeted Sales : 30,000 units per annum

Rs.
Raw Material cost per unit 8
Direct Labour per unit 8
Overhead per unit : 2
Total cost per unit 18
Profit per unit 2
Selling Price per unit 20

Additional Information :
(i) Debtors are allowed 8 weeks credit.
(1) Suppliers provide 5 weeks credit.

(1) Raw material will be carried in stock for 4 weeks and finished goods for 2

weeks.
(iv) Factory processing will take on an average 3 weeks.

Assume labour and overhead expenses to accrue evenly throughout the production

cycle. (15)
OR

Write short notes on the following :

(1) Operating cycle method of working capital. (5)
(i) Economic order Quantity. (5)
(1) Evaluation of credit policy. (5)

PTO.
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